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QUESTION 1

Scenario: Armstrong Defense Industries Please read this scenario prior to answering the question 

Armstrong Defense Industries is the prime contractor for the Dreadnought Unmanned Aircraft System program. 

Over the course of this contract, the company has grown rapidly by acquisition and has inherited numerous different
procurement processes and related IT systems. Armstrong Defense is moving aggressively to consolidate and reduce
redundant procurement processes and systems. The CEO has announced that the company will seek to leverage
higher volume discounts and lower related IT support costs by instituting a preferred supplier program. 

To achieve this goal, Armstrong Defense needs to define Baseline and Target Architectures. These architectures must
address key stakeholders concerns such as: 

1.

 What groups of people should be involved in procurement-related business processes? 

2.

 What current applications do those groups use? 

3.

 Which procurement-related business processes are supported by zero, one, or many existing applications? 

4.

 What are the overall lifetimes of the Request for Proposal and Purchase Order business objects? 

5.

 What non-procurement applications will need to be integrated with any new procurement applications? 

6.

 What data will need to be shared? 

At present, there are no particularly useful architectural assets related to this initiative. All assets need to be acquired
and customized or created from scratch. The company prefers to implement existing package applications from systems
vendors with little customization. 

The architecture development project has just completed its Architecture Context iteration cycle and is about to begin
the Architecture Definition iteration cycle. 

Armstrong Defense is using TOGAF for its internal Enterprise Architecture activities. It uses an iterative approach for
executing Architecture Development Method (ADM) projects. 

Refer to the Armstrong Defense Industries Scenario 

You are serving as the Lead Architect. 

You have been asked to identify the most appropriate architecture viewpoints for this situation. 

Based on TOGAF 9, which of the following is the best answer? 
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A. In the early iterations of the Architecture Definition: 

•

 Describe the Baseline Business Architecture with a Baseline Business Process catalog 

•

 Describe the Baseline Application Architecture with a Technology Portfolio catalog 

•

 Describe the Baseline Data Architecture with a Data diagram 

In the later iterations of the Architecture Definition: 

•

 Describe the Target Business Architecture with an Actor/Process/Data catalog 

•

 Describe the Target Application Architecture with a System/Technology matrix 

•

 Describe the Target Data Architecture with a Data Dissemination diagram 

B. In the early iterations of the Architecture Definition: 

•

 Describe the Target Business Architecture with a Business Service/Function catalog and a Business 

Interaction matrix 

•

 Describe the key business objects with Product Lifecycle diagrams 

•

 Describe the Target Application Architecture with Application Communication diagrams and an Application Interaction
matrix 

•

 Describe the Target Data Architecture with a Data Entity/Business Function matrix and a System/ Data matrix 

In the later iterations of the Architecture Definition: 

•

 Describe the Baseline Business Architecture with a Business Service/Function catalog and a 

Business Interaction matrix 
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•

 Describe the Baseline Application Architecture with a System/Organization matrix and a System/ Function matrix 

•

 Describe the Baseline Data Architecture with a Data Entity/Data Component catalog 

C. In the early iterations of the Architecture Definition: 

•

 Describe the Target Business Architecture with a Business Service/Function catalog and an 

Organization/Actor catalog 

•

 Describe the key business objects with Data Lifecycle diagrams 

•

 Describe the Target Application Architecture with Application Communication diagrams and an Application Interaction
matrix 

•

 Describe the Target Data Architecture with a System/Data matrix 

In the later iterations of the Architecture Definition: 

•

 Describe the Baseline Business Architecture with a Business Service/Function catalog and a 

Business Interaction matrix 

•

 Describe the Baseline Application Architecture with an Application and User Location diagram and a System/Function
matrix 

•

 Describe the Baseline Data Architecture with a Data Entity/Data Component catalog 

D. In the early iterations of the Architecture Definition: 

•

 Describe the Baseline Business Architecture with an Organization/Actor catalog 

•

 Describe the Baseline Application Architecture with a System/Function matrix 

•
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 Describe the Baseline Data Architecture using a Data Entity/Data Component catalog 

In the later iterations of the Architecture Definition: 

•

 Describe the Target Business Architecture with en Organization/Actor catalog 

•

 Describe the Target Application Architecture using Application Communication diagrams end an Application Interaction
matrix 

•

 Describe the Target Data Architecture with a System/Data matrix 

Correct Answer: B 

 

QUESTION 2

Please read this scenario prior to answering the question 

Your role is that of the Lead Enterprise Architect at a multinational automotive corporation. The company is
headquartered in Germany, and manufactures cars, trucks and buses. It has manufacturing plants across North
America, South America, Europe and Asia. Each of these plants has been operating its own planning and production
scheduling systems, as well as custom developed applications that drive the automated production equipment at each
plant. 

The company has an ongoing initiative to improve the efficiency of all of its production operations, and in particular to
reduce its carbon footprint. During a recent exercise held for internal quality improvement, it was determined that a
significant reduction in energy usage could be achieved by replacing the current planning and scheduling systems with
a common Enterprise Resource Planning (ERP) system located in one central data center. This central system would
provide support to each of the plants replacing the functionality in the existing systems. It would also eliminate the need
for full data centers at each of the plant facilities. 

The Enterprise Architecture department has been operating for several years and has mature, well-developed
architecture governance and development processes that are based on the TOGAF standard. At a recent meeting, the
Architecture Board approved a Request for Architecture Work sponsored by the global CIO. The request covered the
initial architectural investigations and the development of a comprehensive architecture to plan the transformation. 

Refer to the Scenario 

You have been asked to select the most appropriate recommendation to ensure that the team evaluated different
approaches to the problem and clarifies the requirements for the architecture. 

Based on the TOGAF standard, which of the following is the best answer? 

A. The team should identify the individuals and groups within the organization who will contribute to the project, in order
to understand who has concerns about the initiative. The team should then hold a series of interviews at each of the
manufacturing plants using the business scenario technique. This will then enable them to identify and document the
key high-level stakeholder requirements for the architecture. 

B. The team should exercise due diligence and carefully research vendor literature and conduct a series of briefings
with vendors that are on the current approved supplier list. Based on the findings from the research, the team should
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define a preliminary Architecture Vison. The team should then use that model to build concerns among the key
stakeholders. 

C. The team should perform a shallow architecture development iteration, developing Baseline and Target Architectures
for each of the manufacturing plants. This should include development of a set of views corresponding to selected
viewpoints that address key concerns of the stakeholders. A consolidated gap analysis between the architectures will
then be used to validate the approach, and determine the capability increments needed to achieve the target state. 

D. The team should utilize its approved supplier list, and conduct a pilot project that will enable those suppliers to
demonstrate potential solutions that will address the concerns of the stakeholders. Based on the findings of that pilot
project, a complete set or requirements will be developed that will drive the evolution of the architecture. 

Correct Answer: A 

 

QUESTION 3

Scenario: Please read this scenario prior to answering the question You are serving as the Lead Enterprise Architect at
a major supplier in the automotive industry. The company is headquartered in Cleveland, Ohio with manufacturing
plants across the United States, Brazil, Germany, Japan and South Korea. Each of these plants has been operating its
own planning and production scheduling systems, as well as custom developed applications that drive the automated
production equipment at each plant. 

The company is implementing lean manufacturing principles to minimize waste and improve the efficiency of all of its
production operations. During a recent exercise held for internal quality improvement, it was determined that a
significant reduction in process waste could be achieved by replacing the current planning and scheduling systems with
a common Enterprise Resource Planning (ERP) system located in the Cleveland data center. This central system would
provide support to each of the plants replacing the functionality in the existing systems. It would also eliminate the need
for full data centers at each of the plant facilities. A reduced number of IT staff could support the remaining applications.
In some cases, a third-party contractor could provide those staff. 

The Enterprise Architecture department has been operating for several years and has mature, well-developed
architecture governance and development processes that are strongly based on TOGAF 9. 

At a recent meeting, the Architecture Board approved a Request for Architecture Work sponsored by the Chief Engineer
of Global Manufacturing Operations. The request covered the initial architectural investigations and the development of
a comprehensive architecture to plan the transformation. 

The Common ERP Deployment architecture project team has now been formed, and the project team has been asked
to develop an Architecture Vision that will achieve the desired outcomes and benefits. Some of the plant managers have
expressed concern about the security and reliability of diving their planning and production scheduling from a remote
centralized system. The Chief Engineer wants to know how these concerns can be addressed. 

Refer to the Scenario 

[Note: You should assume that the company has adopted the example set of principles that are listed and 

defined in TOGAF 9, Section 23.6.] One of the earliest initiatives in the Enterprise Architecture program 

was the definition of a set of architecture principles. These now need to be updated to address the 

concerns raised. 

You have been asked to select a set of principles most appropriate for guiding the team to define a robust 

solution. 
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Based on TOGAF 9, which of the following is the best answer? 

A. Common-use Applications, Control Technical Diversity, Ease of Use, Interoperability, Data is Shared, Data is
Accessible, Data Security 

B. Business Continuity, Common-use Applications, Maximize Benefit to the Enterprise, Data is Shared, Data is
Accessible, Data Security 

C. Technology Independence, Data Trustee, Information Management is Everybody\\'s Business, IT Responsibility,
Responsive Change Management 

D. Service-orientation, Responsive Change Management, Business Continuity, Data is Accessible, Data Security 

Correct Answer: B 

 

QUESTION 4

MightyGears produces components for the Car industry. Driven by the global financial downturn they are looking to
reduce IT costs. They believe there is a cost saving opportunity within IT but this is not quantified in terms of potential
savings nor is there an agreed target architecture. Final decisions on the solutions are not yet fully agreed. They have
completed the first pass architecture and now are looking at the best opportunities and solutions to meet their financial
goals. 

You are the Chief Architect from a consulting organization brought into review the work to date by MightyGears and to
make recommendations to the CIO and the board on the opportunities and solutions present. 

Refer to the scenario above 

Which of the following answers best describes how TOGAF recommends examining the opportunities and solutions
before presenting to the board? 

Choose one of the following answers 

A. I would examine the architecture work today ensuring it is complete and accurate and addressing any gaps. I would
look at functional and integration requirements. I would then ensure all dependencies are understood and documented. I
would then create the necessary artefacts including major work packages and transition architectures and the project
charters for the recommended projects for presentation to the board. 

B. I would assess the architecture work today, create, and priorities projects to transition Widget Inc from the current
architecture to target architecture. This will include a business value for each project, the resources required and the
intended timing. I would then validate the prioritizations with the board particularly looking at cost benefits and risks.
Lastly, I would generate the Architecture Implementation Roadmap and document lessons learned. 

C. I would assess the requirements of the organization particularly those requirements describing the functions required
and information flows within the architecture. I would then look to produce artifacts that describe the recommended
projects, the risk, issues and dependencies. This would also include transition architects to move us from current
architecture to the recommended target architectures. I would present my recommendations to the board for agreement.
Once this is done, I would update the architectures reflecting any changes resulting from the board discussion. 

D. I would look at the corporate culture and attitude to change, understand the constraints such as cost and the required
time horizons. I would then look at the architecture work to ensure it is complete and seek to address any gaps. I would
review the functional requirements and ensure there are complete interoperability requirements. I would then validate
any dependencies and risks. Then formulate an implementation and migration strategy identifies major work packages
and the transition architecture required. Finally, once agreement is reached with the board I will create project charters
and re-factor any changes needed from the board discussion into the architecture. 
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Correct Answer: A 

 

QUESTION 5

An international Insurance company has grown with little consideration for rationalization and consolidation. There is no
coordination between business unit and every one have managed its own applications. The CIO decided to establish an
Enterprise Architecture program within the enterprise to enable the company to expand to other markets in the next two
years. The company has not any Enterprise Architecture Capability in place and the he CIO has set up an Architecture
Board and called its first meeting. Refer to the scenario above 

As Lead Architect you will establish a TOGAF 9 Enterprise Architecture program. Identify the best way to do this among
the answers below. 

Choose one of the following answers 

A. You tailor TOGAF 9 with the help of the Architecture Board to integrate it with the legacy procedures established by
the PMO. You also examine the relationship of TOGAF with other processes and frameworks for governance, systems
development and operations management. You then define the footprint of the enterprise architecture. 

B. As Lead Architect you create a Request for Architecture Work to allocate resources to work on the Architecture
Vision. Based on the outcome of the Business Scenario technique you apply, you create the Common Systems
Architecture to guide the choice of Solutions Building Blocks. These will be then used for integrating the systems across
business units. 

C. You clarify the agreement on key business drivers and the scope of the enterprise architecture. You then clarify the
requirements for architecture work. You define the architecture principles together with the help of the Architecture
Board in order to lead the architecture work. You consider how to tailor TOGAF 9 for this enterprise. 

D. You conduct an Architecture Maturity Assessment. You then use the TOGAF ADM to state the requirements for the
integration of a new company information management system into the organization. You then list a set of business
goals together with the Architecture Board that will be a reference to the enterprise architecture program. 

Correct Answer: C 
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